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WEST BENGAL STATE UNIVERSITY 

B.A. Honours 2nd Semester Examination, 2022 

PHIACOR04T-PHILOSOPHY (CC4) 
HISTORY OF WESTERN PHILOSOPHY-II 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

Answer Question No. 1 and 2 and two more questions taking one from each group (‘A’ and ‘B’)
১নং ও ২নং pű এবং িবভাগ ‘ক’ ও ‘খ’ �থেক একিট কের িনেয় আেরা dিট  pেűর উtর দাও 

1. Answer any five questions from the following: 
িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Explain with illustration the rule of Universal Generalisation.
উদাহরণসহ সািব�ক সামান°ীকরণ সূtিট ব°াখ°া কেরা। 

(b) What is individual constant?  
ব°িk rবক কী ? 

(c) Fill up the blanks:
শূন°sান পূরণ কেরাঃ 
(i) FxFxx ___________~)(~  
(ii) )()~)((~ xDxCxx ___________ 

(d) What is meant by substitution instance?
িনেবশন দৃŶাn বলেত কী েবাঝায় ? 

(e) What is the need for quantification?
মানকিলিপর pেয়াজনীয়তা কী ? 

(f) What is Analogical Argument? 
উপমা যুিk কােক বেল ? 

(g) What is variable? What are the types of variable? State their name.
gাহক কােক বেল ? gাহক কত pকার ? তােদর নাম উেlখ কর।  

(h) What is Ad-hoc hypothesis? 
েঠেকা pকl কী ? 

(i) What do you understand by sufficient condition?
পয�াp শত� বলেত কী েবােঝা ? 

(j) Explain the addition theorem of calculating probability. 
সmাব°তা গণনায় েযােগর সূtিট ব°াখ°া কেরা। 
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2. Answer any two questions from the following:
িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 

5×2 = 10

(a) Distinguish between truth function and propositional function with examples. 
সত°ােপkক ও বাচিনক অেপkেকর মেধ° পাথ�ক° দৃŶাn সহেযােগ ব°াখ°া কেরা। 

(b) Symbolize the following sentences by using quantifiers, variables etc: (any two) 
িনmিলিখত বাক°gিলেক মানক, ব°িkgাহক ইত°ািদর সাহােয° pতীকািয়ত কেরাঃ (েয-েকােনা dিট) 
(i) Some roads are passable if and only if they are dry. 
 েকান েকান পথ চলার েযাগ° যিদ এবং েকবল যিদ েসgিল ǖকেনা হয়। 
(ii) Men and men alone are rational. 
 মানুষ এবং একমাt মানুষই বুিdবৃিtসmn। 
(iii) Dogs and Cats bite if they are either hungry or teased. 
 kkর এবং িবড়াল তখনই কামড়ায় যিদ তারা kধাত� অথবা িবরk হয়। 

2 2
1 ×2 = 5

(c) What is apriori theory of probability? State with example.
সmাব°তার পূব�তঃিসd তttিট িক ? উদাহরণ সহেযােগ ব°াখ°া কেরা। 

(d) Explain the limitations of Mill’s method in brief.
িমেলর পdিতর সীমাবdতা সংেkেপ ব°াখ°া কেরা। 

  

 GROUP-A
িবভাগ-ক 

3. Construct formal proof of validity of the following: (any three)
িনmিলিখত যুিkgিলর আকারগত ৈবধতা pমাণ কেরাঃ (েয-েকােনা িতনিট) 

5×3 = 15

(a) )]([)( FxVxGxx  
)~()( FxGxx  
)()( VxGxx  

(b) )()( HxLxx  
)()( GxOxx  / )]()[()( GxHxOxLxx  

(c) Bees and Wasps sting if they are either angry or frightened. Therefore, any Bee 
stings if it is angry. 
েমৗমািছ ও েবালতা দংশন কের যিদ তারা krd হয় অথবা ভীত হয়। সুতরাং, েয েকান েমৗমািছ দংশন 
কের যিদ তা krd হয়। 

(d) All citizens who are not traitors are present. All officials are citizens. Some 
officials are not present. Therefore there are traitors. 
সকল নাগিরক যারা রাŷেdাহী নয়, তারা উপিsত আেছ। সমs পদািধকারী ব°িk হয় নাগিরক। েকান 
েকান পদািধকারী উপিsত েনই। অতএব, রাŷেdাহীরা আেছ। 

  
4. Determine the invalidity of the following arguments by the method of truth value 

assignments: (any three) 
সত°মূল° আেরােপর dারা িনেmাk যুিkgিলর অৈবধতা pমাণ কেরাঃ (েয-েকােনা িতনিট) 

5×3 = 15

(a) )()( MxNxx  

)()( LxNxx  / )()( MxLxx  



CBCS/B.A./Hons./2nd Sem./PHIACOR04T/2022 

2076 3  Turn Over 

(b) )~()( ExDxx  
))(( FxExx  / )~()( DxFxx  

(c) Some men are bohemians. Some men are artists. Therefore some artists are 
bohemians. 
েকান েকান মানষু ভবঘুের। েকান েকান মানুষ িশlী। সুতরাং েকান েকান িশlী ভবঘুের। 

(d) All generals are handsome. Some intellectuals are handsome. Therefore, some 
generals are intellectuals. 
সকল েসনাপিত হয় সুnর। েকান েকান বুিdজীবী হয় সুnর। অতএব েকান েকান েসনাপিত হয় 
বুিdজীবী। 

  

 GROUP-B
িবভাগ-খ 

5. What is scientific hypothesis? What are the criteria for evaluating scientific 
hypothesis? 
ৈবjািনক pকl কােক বেল ? ৈবjািনক pকl মূল°ায়েনর মানদčgিল িক িক ? ব°াখ°া কেরা। 

3+12

  
6. Calculate the probability of the following events: (Any three)

িনmিলিখত ঘটনাgিলর সmাব°তা িনণ�য় কেরাঃ (েয-েকােনা িতনিট) 
5×3 = 15

(a) In a book fair, there are five entrances. Four friends come to visit the book fair. 
What is the probability of their entering the fair by the same entrance? 
ধরা যাক  ্ বইেমলায় পাঁচিট pেবশ পথ আেছ। েমলা েদখেত আসা চারজন বnুর একই pেবশ পথ িদেয় 
pেবেশর সmাব°তা কত ? 

(b) In drawing three cards in succession from a standard deck, what is the probability 
of getting three hearts? 
(i) If each card is replaced before the next draw. 
(ii) If the cards are not replaced. 
একিট সাধারণ তােসর প°ােকট েথেক পরপর িতনিট তাস tেল িনেল, িতনিট তােসরই হরতন হবার 
সmাবনা কত ? 
(i) যিদ পরবত�ী তাস েতালার আেগ পূব�বত�ী তাসিট প°ােকেট িফিরেয় েদওয়া হয়। 
(ii) যিদ েতালা তাস িফিরেয় না েদওয়া হয়। 

 

(c) What is the probability of getting at least one 5 from the toss of two dice? 
লুেডার ছkােক পরপর dবার দান িদেল অnতঃ একবার পাঁচ পড়ার সmাব°তা কত ? 

(d) What is the probability of getting atmost one head in three tosses of a coin? 
একিট মুdা িতনবার িনেkপ করেল অনিধক একবার েহড পড়ার সmাব°তা কত ? 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script. 

 
——×—— 

 


